
1.1)

I

1.2)

1

1.3)

1.4)

6

L O

6

10

7

L O

5

6

/

DO 10 I = 1,5

READ (5, 6) A (I)

FORMAT (3F5.0)

CONTINUE

DO 10 J = 1,9

READ (5, 6) A (J), B (J)

FORMAT (F5.3)

CONTINUE

DO 10 K = 1, 6, 2

READ (5, 7) (A (I), I = 1, K)

FORMAT (3F5.0)

CONTINUE

REAL A(4), J

D O 5 1  =  1,4

WRITE (6, 6) J, A

FORMAT (1X, 2F4.1)

2 . 1 )

5

1 . 2 )  1 8  Ikll

1 . 3 )  4  7.h

1.4) 12 Y-m%

#J&W3lZ  J, A h+l~J  WRITE AD

J, A(l),  4%  A(3), A(4)

READ (5, 5) (A(I), I = 1, 6) 2.1) DOlI=  1,6,2

FORMAT (2F5.0) 1 READ (5, 5) A(I), A(1 + 1)

5 FORMAT (2F5.0)

C S  2 1 5  (HI
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6

2 . 2 )
I

READ(5,6)(A(I),K(I),I=  2,9,2)  ) 2.2)
I I

DO21=2,9,4

FORMAT (Z(F5.1,  12)) 2

I II

READ(B,G)A(I),K(I),A(I+2),K(I+2)

6 FORMAT (2(F5.1,  12))

3.1) WRITE (6, 11) (I, I = 1, 5)

a) 11 FORMAT (11)

b) 11 FORMAT (12, 12)

c) 11 FORMAT (1X,2011)

d) 11 FORMAT (4X, 212, (I+‘, 211))

3.2) WRITE (6, 12) (K, I, I = 1, 4)

a) 12 FORMAT (12, 5F5.0)

b) 12 FORMAT (13, 1X,  11)

c) 12 FORMAT (512)

(4X, 212, ‘ + ‘, 2111’ + ‘, 2Ill‘  + ‘, 2IU.J

3.2)

3 8 CS 215 (H)



3.3) WRITE (6, 13) (J, (A(I), I = 1, 5),  J = 1, 2) 3 . 3 )

a) 13 FORMAT (12, 5F4.0)

, b ) 1 3 FORMAT (IU5F4.0, 1215F4.0)

c) 13 FORMAT (12/(5F4.0))

a) Al,,2.,-3.,,3.,,5.,0.

,2,,2.,  -3.,,3.,,5.,,0.

b) !hbM~?i72%~

nn2.,  - 3.,,3.,,5.,*0.,2

^,2.,-3.,,3.,,5.,,0.

4 /yl

A/\2.A-3./\/\3.A/\5.^,o.

iilvI?u  J 13 Fw.d  lxi!n”

3.4) WRITE (6, 14) ((A(I), I = 1, 2),  (B(I), I = 1, 2),  L = 1, 2)

a ) 1 4 FORMAT (2F4.0, 3F3.1) I 3 . 4 ) a ) ,,2.,-3. ***2.0 1.5

b) 14 FORMAT (1X,  F4.1)

c) 14 FORMAT (12F3.0)

I
,-3.,-1.2.0

b) ,,,I.5
,-3.2
A-  1.0

hA2.0
Ah 1.5
,-3.2
A-  1.0

Ah 2.0
c) ,,2.-3.-1.*2.,2.-3.-1.,2.

4. B&Uh-h  FORMAT &~fl&-k~~~k~Jdo~~~

4.1) READ (5, 5) (A(I),  I = 1, 5),  (K(I), I = 1, 1000)

WI¶J 5 FORMAT (5F10.0/(1018))

4 . 2 ) WRITE (6, 6) (A(I), B(I), I, I = 1,500)

B1f1pI  6 FORMAT (2F10.0, 15)

4 . 3 ) WRITE (6,  7) (A(I), I = 1, 3),  (JPAY  (I), I = 1, lOOO),  COST, K

BI%I  7 FORMAT (3F10.0/100(1016/),  2X, F5.0, 13)

CS 215 (H) 3 9





5.4) X(1) X(2) X(3) X(4)

1.3 4.2 6.8 1.9

vu  Y(2) Y(3)

5 . 4 )

5 . 5 )

5 . 6 )

5.7)

5 . 8 )

REAL  X(4), Y(3)

READ (5, 1) X

READ (5, 1) Y

FORMAT (4F6.1)

REAL X(3), Y(3)

READ (5, 1) (X(I), Y(I), I = 1, 3)

FORMAT (4F6.1)

REAL X(3), Y(3)

READ(5,1XXO,I=  1,3),(Y(I),I=  1,3)

FORMAT (4F6.1)

REAL X(5)

READ (5, 1) X(5)

READ (5, 1) X(l), X(4)

X(3) = x(1)*5

X(2) = X(1) + X(5)

FORMAT (F6.1)

REAL X(16)

READ (5, 1) (X(I), A, I = 1, 4)

FORMAT (3F6.1)

(4.1(-2.31
5.5) X(1) X(2) X(3) Y(1) Y(2) Y(3)

1.3 6.8 4.1 4.2 1.9 -2~3

5.6) X(1) X(2) X(3) Y(1) Y(2) Y(3)

1.3 4 .2 6 .8 1.9 4 .1 -2.3

i.7) X(1) X(2) X(3) X(4) X(5)

4.1 5.4 20.5 7.8 1.3

5.8) X(1) X(2) X(3) X(4) A

1.3 6.8 -2.3 7.8 1

6.1) .READ (5, 5) (A(I), I = 1, 5),  (B(J), J = 1, 3) 6.1) 3 Iha

5 FORMAT (3F5.2)

6 . 2 ) WRITE (6, 6) (K, A(I), B(I), I = 1, 5) 6.2) 5 ¶JW’%

6 FORMAT (12, 2F3.0h  FORMAT (12,2F3.0)

6 . 3 ) READ  (5, 7)  (A(J),  BCJh  J = 1,  9) 6.3) 18 I%3

7 FORMAT (F5.1)
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6.4) READ (5, 8) (A(I), (B(J), J = 1,5),  I = 1, 5) 6.4) 30 ih

8 FORMAT (FL 1)

6 . 5 ) WRITE (6, 11) (PAY (J), J = 1, 3) 6.5) 2 !.mrk

11 FORMAT (2F6.1)

6 . 6 ) WRITE (6, 4) (J, (A(I), I = 1, 3),  B, J = 1, 5) 6.6) 5 ll3Gl

4  FORMAT (1X,  11, 3F5.0, F3.0)

7 . t-hwWI?il~~  1 i% A &hu’?h 100 ib PJIQ~UP~?U”~~~JT~~U~~~~~~~~~~~

~‘lZ.Jkh%%~~~~~~%h~~  DO LLA::  implied DO hl%JUdrJt&

A(50)  A(100)I2

mm 7.1)
I I

DO 10 I = 1, 100, 2

n%

7.2)

n40

7 . 3 )

n%

10 WRITE (6, 5) A(I), A(1 + 1)

5 FORMAT (2F10.2)

WRITE (6, 5) (A(I), I = 1, 100)

5 FORMAT (2F10.2)

DO 10 I = 1, 50

10 WRITE (6, 5) A(I), A(1 + 50)

5 FORMAT (2F10.2)

WRITE (6, 5) (A(I), A(1 + 50),  I = 1, 50)

5 FORMAT (2F10.2)

DO 10 I = 1, 100

1 0 WRITE (6, 5) I, A(1)

5 FORMAT (15, F10.2)

WRITE (6, 5) (I, A(I), I = 1,100)

5 FORMAT (15, F10.2)

4 2 cs 215 (H)
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8.3)

8.4)

1

DIMENSION A(100)

(jgiG-$

READ (5, 5) (A(I), I = 1 110
c

FORMAT (lOF5.0)

STOP

END

DIMENSION A(6)

DO 10 I = 1,5

READ (5, 7) A(I), A(1 + 1)

FORMAT (2F5.0)

CONTINUE

STOP

END

,4)  fhm A(2), A(3), A(4), A(5) 9=~"~1"1"

hJnl5dlUtl~Jsff  2 - 5

RITE (6, 5) (N, L, (M(J), J = 1, 4),  K, K = 1, 2)

ORMAT (1X, 313/(1X,412))

PlQ¶J A.-ME  $Ly-“;1J
2 3 4

A - - - - - - h -

N L

I

M, M,
I\--- _----

M3 M4 2A--- A -

9.2) REAL T(lO)

READ (5, 6) A, B, (T(I), I = 1, 5)

4 6 FORMAT (3F5.1)

mb~l ihfd I &-hM A, B, T, h&8!  1, 2 LLB:.  3 FW.Jil+k

lhd 2 6fillIQJ T,,  T,, T, ~u~~~fi 1, 2 LLA: 3 @lUf%kl

I%& 3 ddlTioJ  T,
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b) 6 FORMAT (3F5.11F5.1)

4 6 FORMAT (F5.1/(2F5.1))

mu  y’91d  1 dcil’m A

hd  2 ijcilvaJ  B, T,

y  i%aGi  3  %il?~oJ  T, ,  T,

I.%T~  4 i.hil~~oJ  T,, T,

9.3)

1

61091

WRITE (6, 4) (A(I), I = 1, 7)

FORMAT (1X, 2F4.0/1X, 2(F3.1,1X)/2(1X,  F3.0))

2c

CS 215 (H)

IREAL A(lO), B(20), IBIG -

D I M E N S I O N @  C ( 3 )

-

READ (5,o) (A (I), I = 1, 10) -

DO@ = 1, 10 -

IF (A(1) .GE.@IBIG = A(1) -

IF (A(I)-) ISMALL = A(1)

4 5



4 41

5 42-43

CS 215

TABLE 1

FEMALES IN FACULTY OF SCIENCE

NUMBER NAME AGE

AVERAGEAGE =

4 6 CS 215 (H)



!

1 1

1:

l(

TABLE 2

NUMBER OF STUDENTS CLASSIFIED BY FACULTY

FACULTY NO. OF STUDENTS

1

2

7

TOTAL

DIMENSION NAME (8),  NFAC (7)

WRITE (6, 9)

FORMAT (32X, ‘CS,215’/32X,  ‘TABLE ,1’/26X,  ‘FEMALE,IN,FACULTY’,

‘,,OF,,SCIENCE’/2X,  ‘NUMBER’, 19X, ‘NAME’, 14X, ‘AGE’ )

DATA NFAC, ISAGE/8*0/,  NFSIOI

DO 10 N = 1, 300

READ (5, 11) ICODE, NAME, IFAC, ISEX,  IAGE

FORMAT (17, 8A4, 211, 12)

NFAC (IFAC) = NFAC (IFAC) + 1

IF (ISEX  .EQ.  1) GO TO 10

IF (IFAC .NE.  5) GO TO 10

ISAGE =  ISAGE +  IAGE

NFS = NFS + 1

WRITE (6, 12) NFS, NAME, IAGE

FORMAT (4X, 12, 6X, 8A4, 2X, 12)

CONTINUE

FS = NFS

AVER = ISAGEIFS

WRITE (6, 13) AVER
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13

14

t

t

15

16

FORMAT (26X, ‘AVERAGE,AGE,  = ,,‘,  F5.2)

WRITE (6, 14)

FORMAT (/15X, ‘TABLEx2’/1X,  ‘NUMBER,OF,STUDENTS,‘,

‘CLASSIFIED,BY,,FACULTY’/lX,  ‘FACULTY’, 8X,

‘NUMBER,,OF,,STUDENTS’)

WRITE (6, 15) (I, NFAC(I), I = 1, 7)

FORMAT (4X, 11, 18X, 13)

WRITE (6, 16)

FORMAT (3X, ‘TOTAL’, 15X, ‘300’)

STOP

E N D

12. oJlduwrll~un~ur~o~~~~~~~  Sample linear regression equation LLRZ Analysis of

variance table h&dkl$dO~dd

n = 12

xi 1.3 3.1 2.1 1 .3  -5 .2  -6 .2  -2 .1 -5 .2 -3 .9  -2 .1 1.2 .9

yi  5.1 6.9 6.1 4.9 .8  .l  2.3 1.1 1.2 2.1 4.2 4.2

RiwmlK~uCincii  x $3 12 C;7~%iio1d  1 kfwii y $4 12 fi7luGvd 2

~iHu~3~uuuuoJni~4uW’wR

SAMPLE LINEAR REGRESSION

Y = (a) + (b)x

ANALYSIS OF VARIANCE

SOURCE D.F. SUM OF SQUARES MEAN SQUARE F-RATIO

REGRESSION (1) (SW (MSR= SSR) (F)

ERROR (n-2) (SW (MW

TOTAL b-1) c3w
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S S Y  =  ,?I$ - (Z.yi)2/n

ii- S X Y  =  Zxiyi  - (Zxi)(Cyi)/n ,B  =  g

b=SXYISSX , a=?-  b;
i=l

SSR = b*SXY ,  SSE = SSY-SSR

M S R =  S S R  , MSE = SSE/(n-2)

F = MSR/MSE

B18lJ

l(

1:

DIMENSION X(12), Y(12)

DATA SUMX, SUMY, SUMXY, SUMXX, SUMYYI5*0.0/

READ (5, 10) (X(I), I = 1, 12),  (Y(I), I = 1, 12)

FORMAT (12F4.1)

DO 11 I = 1, 12

SUMX = SUMX + X(1)

SUMY = SUMY + Y(1)

SUMXX = SUMXX + X(1)*X(I)

SUMYY = SUMYY + Y(I)*Y(I)

SUMXY + SUMXY + X(I)*Y(I)

XBAR = SUMXI12.

YBAR = SUMYI12.

SSX = SUMXX - SUMX*SUMX/12.

SSY = SUMYY - SUMY*SUMY/12.

SXY = SUMXY - SUMX*SUMY/12.

B = SXYlSSX

A = YBAR - B*XBAR

SSR = B*SXY

SSE = SSY - SSR

RMS = SSR

CS 215 (H) 4 9



12

t

13

t

t

+

’ E M S  =  SSE/lO.

F = RMS/EMS

WRITE (6, 12) A, B

FORMAT (12X, ‘SAMPLE LINEAR REGRESSION’/15X,  ‘Y, = ,$, F7.3,
63

‘+‘,  F8.3, ‘X’/)

WRITE (6, 13) SSR, RMS, F, SSE, EMS, SSY

FORMAT (12X, ‘ANALYSIS OF VARIANCE’/3X,  ‘SOURCE’, 3X, ‘D.F.‘,

1X, ‘SUM OF SQUARES MEAN SQUARE F-RATIO’hX,  REGRESSION’,

3X, ‘l’,  6X, F7.3, 5X, F7.3, 3X, F6.2/1X, ‘ERROR’, 7X, ‘lo’, 6X,

F7.3, 5X, F7.3/1X, ‘TOTAL’, 7X, ‘ll’,  6X, F7.3)

STOP

END

1) &W8991pd  (TYPE OF JOB)

1

2
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COMPANY XYZ

m4i SALARY REPORT
head

+ PERCENT TO
NUMBER TYPE OF JOB NO. OF YEARS EDUCATION MERIT BE ADDED

Blb¶J DIMENSION APER(5),  BPER(5),  DPER(4)

DATA APERlO.,  5., 15.,  25.,  50.1

DATA BPER/O.,  lo.,  15.,  25.,  50./,  DPER/O., lo.,  25./

WRITE (6,lO)

10  FORMAT ( -head-)

DO 9 I = 1, 100

READ (5, 2) JOB, IEDU, IYEAR,  IMER

2 FORMAT (211, 12, 11)

IF (IYEAR  .LE. 10) GO TO 8

CPER = 5 + (IYEAR  - lo)*4

GO TO 7

8 CPER = 5

7 PER = APER (JOB) + BPER (IEDU) + CPER + DPER (IMER + 1)

SALARY = 3000. + 3000.*PER/lOO.

WRITE (6, 15) I, JOB, IYEAR,  IEDU, IMER, PER, SALARY

15 FORMAT (4X, 11, 10X, 11, 12X, 12, 10X, 11, 8X, 11, 7X, F4.0, 4X, F8.2)

9 CONTINUE

STOP

END
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